

$$\neg \overline{xy} \vee \neg z \quad (8)$$

$$\overline{xy} \vee \neg z \neg x \quad (7)$$

$$\neg xy \neg \neg z \neg x \quad \overline{xy} \vee \neg z \quad (6)$$

$$\overline{xy} \vee \neg z \neg x \neg z \neg \overline{xy} \quad (5)$$

$$\overline{xy} \neg \neg z \neg x \neg z \neg \overline{xy} \quad (4)$$

$$\neg \neg \overline{xy} \vee \neg z \neg x \neg z \neg \overline{xy} \quad (3)$$

$$\neg \neg \vee \neg z \neg x \neg z \neg \overline{xy} \quad (2)$$

$$\overline{xy} \neg \neg z \neg x \neg z \neg \overline{xy} \quad (1)$$

18 Fy

LB BB

$$\begin{array}{ccccccc} \frac{1}{2} & & & & & & \\ & g & & & & & \\ & & \begin{pmatrix} 1 & 1 \\ 1 & 1 \\ N & \end{pmatrix} & & & & \\ & & & 0 & & & \\ & & & & \begin{pmatrix} 1 \\ 1 \end{pmatrix} & & \\ & & & & & \begin{pmatrix} 1 \\ 1 \end{pmatrix} & \\ & & & & & & 0 \end{array}$$

g	0	g	N	$\begin{matrix} + \\ + \\ + \end{matrix}$	g _{III}	(2)
---	---	---	---	---	------------------	-----

$$\frac{\textcircled{3} \quad i \quad u/n \quad 0 \quad Z \quad \left(\frac{1}{q-1} \right)^Z}{2}$$

$$\frac{1}{N} \sum_{j=1}^N$$

$$\begin{array}{c} \textcircled{5} \\ \angle // \\ \text{---} \\ (\\ (\\ \text{---} \\ d_1 = \\ \text{---} \\ \textcircled{2} \end{array}$$

✓	21	N	0	2	4	9
---	----	---	---	---	---	---

$$\frac{c}{c} \quad \# \quad (\pm)$$

$$\begin{array}{ccccccc} 21 & & & & & & \\ \hline 21 & & & & & & \\ & 0 & & & & & \\ & & \infty & & & & \\ & & & \infty & & & \\ & & & & \infty & & \\ & & & & & \infty & \end{array}$$

LABB

$$\textcircled{1} \quad \overline{xy} = 0 \quad \cup \quad z/z \quad x \quad yz$$

$$\textcircled{2} \quad \overline{xy} = \overline{xy} \quad 0 \quad \cup \quad \overline{xy} \quad z \quad y \quad xz$$

$$\textcircled{3} \quad \overline{xy} = 0 \quad \cup \quad \overline{xy} \quad z \quad \overline{xy} \quad xz$$

$$\textcircled{4} \quad \overline{xy} = 0 \quad \cup \quad \overline{xy} \quad z \quad \overline{xy} \quad xz$$

$$\textcircled{5} \quad \overline{xy} = 0 \quad \cup \quad \overline{xy} \quad z \quad \overline{xy} \quad xz$$

$$\textcircled{6} \quad \overline{xy} = 0 \quad \cup \quad \overline{xy} \quad z \quad \overline{xy} \quad xz$$

$$\textcircled{7} \quad \overline{xy} = 0 \quad \cup \quad \overline{xy} \quad z \quad \overline{xy} \quad xz$$

$$\textcircled{8} \quad \overline{xy} = 0 \quad \cup \quad \overline{xy} \quad z \quad \overline{xy} \quad xz$$

L8 UB
① $\angle d^u \angle m \angle d \angle d \angle d$

② $\angle m \angle d \angle d$

③ $\angle d^u \angle d^u \angle m \angle d \angle d$

④ $\angle d^u \angle m \angle d \angle d$

⑤ $\angle d^u \angle m \angle d \angle d$

⑥ $\angle d^u \angle m \angle d \angle d$

19 VB

① $\frac{1}{x} \rightarrow x^{-1} \rightarrow x^{-1} \rightarrow x^{-1}$

② $\frac{1}{x^2} \rightarrow x^{-2} \rightarrow x^{-2} \rightarrow x^{-2}$

③ $\frac{1}{x^3} \rightarrow x^{-3} \rightarrow x^{-3} \rightarrow x^{-3}$

④ $\frac{1}{x^4} \rightarrow x^{-4} \rightarrow x^{-4} \rightarrow x^{-4}$

⑤ $\frac{1}{x^5} \rightarrow x^{-5} \rightarrow x^{-5} \rightarrow x^{-5}$

⑥ $\frac{1}{x^6} \rightarrow x^{-6} \rightarrow x^{-6} \rightarrow x^{-6}$

⑦ $\frac{1}{x^7} \rightarrow x^{-7} \rightarrow x^{-7} \rightarrow x^{-7}$

⑧ $\frac{1}{x^8} \rightarrow x^{-8} \rightarrow x^{-8} \rightarrow x^{-8}$

